Lesson 1.5T ~ Estimating with Decimals
Name__________________________________________      Period______      Date____________

Use rounding to the nearest whole number to estimate each sum.

1.  5.6 + 3.1




a.  Round each number to the nearest whole number.    5.6 
[image: image1.wmf]»

 ______   3.1 
[image: image2.wmf]»

 _____



b.  Add the rounded numbers from part a in the expression.     ______ + ______ = ______


c.  Use the answer from part b as your estimate.  5.6 + 3.1 
[image: image3.wmf]»

_______
2.  2.2 + 8.9 
[image: image4.wmf]»

_______
3.  9.75 + 5.14 
[image: image5.wmf]»

_______

Use rounding to the nearest whole number to estimate each difference.

4.  8.41 – 2.59



a.  Round each number to the nearest whole number.       8.41 
[image: image6.wmf]»

 ______   2.59 
[image: image7.wmf]»

 _____



b.  Subtract the rounded numbers from part a in the expression.      ______ – ______ = ______


c.  Use the answer from part b as your estimate.  8.41 – 2.59 
[image: image8.wmf]»

_______

5.  12.9 – 6.7 
[image: image9.wmf]»

_______
6.  17.2 – 8.13 
[image: image10.wmf]»

_______
7.  Chad had about $12.80. He spent $5.22. About how much money does he have left?

Use rounding to the nearest whole number to estimate each product.

8.  4.82 
[image: image11.wmf]´

 3.3


a.  Round each number to the nearest whole number.         4.82 
[image: image12.wmf]»

 ______   3.3 
[image: image13.wmf]»

 ______



b.  Multiply the rounded numbers from part a in the expression.       ______ 
[image: image14.wmf]´

 ______ = ______


c.  Use the answer from part b as your estimate.      4.82 
[image: image15.wmf]´

 3.3 
[image: image16.wmf]»

_______

9.  2.8 
[image: image17.wmf]´

 7.1 
[image: image18.wmf]»

_______
10.  5.6 
[image: image19.wmf]´

 8.79 
[image: image20.wmf]»

_______
11.  Katie buys 3.2 pounds of grapes for $1.98 per pound. About how much money did she spend?

Use compatible numbers to estimate each quotient.

12.  21.2 
[image: image21.wmf]¸

 4.9


a.  Round the divisor (the second number) to the nearest whole number.     4.9 
[image: image22.wmf]»

 ______


b.  Change the dividend (the first number) to the nearest multiple of the whole number from 

           part a.  Is 21.2 closer to 20 or 25?  ________

c.  Divide the answer from part b by the answer from part a.  ______ 
[image: image23.wmf]¸

 ______ = ______


d.  Use the answer from part c as your estimate.  21.2 
[image: image24.wmf]¸

 4.9 
[image: image25.wmf]»

_______

13.  17.7 
[image: image26.wmf]¸

 2.89 
[image: image27.wmf]»

_______
14.  35.4 
[image: image28.wmf]¸

 6.2  
[image: image29.wmf]»

_______
©2013 SMC Curriculum

Core Focus on Decimals & Fractions

_1276535565.unknown

_1280653121.unknown

_1280653131.unknown

_1276535595.unknown

_1272220750.unknown

_1272220994.unknown

_1276535542.unknown

_1272220961.unknown

_1272220703.unknown

